HANYU

IR A TR E AL IE
LA AMKJIYS-B 51 L5 8%

Series/Type: AKMJYS-B series

Date: Oct 10, 2022
Version: 01



s

HANYU

WA —ThR A BALIE

FHELHZAZ AKMJYS-B series

45K

I IR AR

AR TERE: R PCB, T3 A] B fiF (1 Bop i
BRI DITAR.

A5 T 55 A A o

Fic A7 Py B R

AL

=M =S,

Pic £ TS H L BEL

W 24 R Y

- WIEREITR

- HEHEAR

mE IR (B ] X)

mOE N

m R
- JERRIE B
42 ey L RE B 1 i A

" T

w R AR A

m
m KRR IR SR
® (FK A e for M12 =10 Nm / $1% for M16 = 12 Nm)

FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and Page 2 of 12
Important notes at the end of this document.



s

HANYU

WA —ThR A BALIE

B AKMJYS-B series

BARBAE A

RFIE

BWUE 25 Cr TR S K

B —5% ~ +10%

pUEE 2 D (Delta)

BE HLE VR R S K

WUE SN fr 50 and 60 Hz

i 1 R A% R

BE R IR R A% R
BRAHEE

Umax 1.18Ur

Imax 2.0Ir

Is Up to 200 « Ir (A)
WK A

Ut 2.15Un, during 10 s
Utc 2Un+2000 V AC or 3000V AC , during 10 s

*tan & (100 Hz)

<2.0x103

SA%JE5H -40/D

Tin —-40°C

Tmax +55°C

1B Av. rel. < 95%

KR 4000 m

THAF 35 %54

tio TP 5 25 h-40/D HH Ik 135 000 /M

1E-40 IR RR S, B rlak 150 000 /Nt

Max. 5000 switchings per year acc. to IEC 60831.1/2-2014

FILM PFC PM

Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 3 of 12




A
A

y —

ﬁ

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors AKMJYS-B series
BT R
R (oD *xH MR RS R

Bt

Non PCB,# lF 378 B R AR IR T30

[l 5

124 M12x16 or M16x25

5 K AHHE (Al can stud)

M12: 10 Nm / M16: 12 Nm

LA E

AEEALE
BN, BN g2 T .
KV, ATREA WM Sk Bl SCHE

U

TR IP20

RN 6Nm

24 By A A8 T 50mm?

ROK 23 P AL 100 A

JEHEFEES (min) 224 mm

JEHEFEES (min) 223 mm

Ko

Bt 22 4 o BR BT 6

e KA S HLR (AFC: 10 kA according UL 810 standard)
T EE i LIS ) <180 sto 75V orless (IEC 60831) 4hl s v, 6 L 2%
BERE

IEC 60831-1/2-2014 GB/T 12747.1/2-2017




EPCOS

R AR DI REABRIE
DeltaCap AKMJYS-B series capacitors AKMJYS-B series

I e R T

Type: L Type: K
Screw type Clip type

,I . 383350
| =R AR
rol 4R

I s-‘:ﬂ'-u:"‘

Pl . oral Wl
- el L L

fue oRE Nl Arre o aaRTE

;:\ - Wul= e P Vel AN 00
.. 4.-.:-;:‘3 AN igheR:
.:l.;"--.-.:& .
A .
B
. 3
Type: A Type: B Type: C




A
A

y —

f

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors AKMJYS-B series

PRI

@ unNIvERSAL
POWER CAPACITOR

Model : AKMJYS-B0.48-30-3 |
Un Q~/50Hz Q ~/60HZz

400V 20.80kvar 25.00kvar
415V 22.40kvar 26.80kvar
440V 25.20kvar 30.20kvar
480V 30.00kvar 36.00kvar

|C=138.2uFx3 Ui=3/8kV 1=36.0A |

Temp.category -40/60 2 SH
Dry/Non-PCB /Non-SF6
Pressure Sensitive Disconnector
IEC 60831-1 ( 2014 ) +2 ( 2014)

UNIVERSAL
( Germany Key Techonlogy )

warning ! Wait 60 seconds after
isolating before handing

Note: parameter marked in “ [___] " is variable

AKMJYS-B-L-A AKMJYS-B-K-A




A
_—
F—

EPCOS

R AR DI REABRIE
DeltaCap AKMJYS-B series capacitors AKMJYS-B series

External discharge resistor

g Bea  Bea i BH ()
Marking Marking

@ u Torque : M12=10Nm LHJ Torque : M12=10Nm

M16=12Nm M16=12Nm

pD£1 sswswws Serrated washer ?D£1 ssssssssm Serrated washer

[TT] Hexnut M12/M16 [T Hexnut M12/M16

{o— -
\§ o O O
@J ® 0 o
= N o

AKMJYS-B-L-B AKMJYS-B-K-B

$D1+1
i
|
o

External discharge resistor

] @ea  @ea A BH o, ()

T 5 C )

+
S5+1

T 5
[00) [00)
o o
Marking Marking
i H
T T

@ u Torque : M12=10Nm @ Torque : M12=10Nm

M16=12Nm M16=12Nm
$Dx1 e Serrated washer BD+1 s Serrated washer
(L1 Hexnut Mi2M16 [T1] Hexnut M12/M16

»D1+1
®
H%%ﬁ
&
#D1+1
e
Jh
il




A
A

y —
f

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors

AKMJYS-B series

AKMJYS-B-L-C AKMJYS-B-K-C
External discharge resistor —
L oEem T Ems R HH L)
\ \ \ \ \ \
H H
(00} @
o Q]
Marking Marking
W H
T T
L@ u Torque : M12=10Nm @ u Torque : M12=10Nm
M16=12Nm M16=12Nm
pD*1 sy Serrated washer k3l ssssssssss Serrated washer
(LT Hexnut M12/M16 (T Hexnut Mi2M16
. /%m i [
H S TN = a8
s K@éﬁ@j s T
Specification table
50Hz 60Hz Cr Dimension (mm> Bolt of | Packing
7= i the unit
Output Ir Output | Ir bottom pcs
kvar A kvar A Wk ®D ®D1 H
HE K 450 V AC, 50/60 Hz, =ik iEHE:
AKMJYS-B-X-X-0.45-5-3 5.0 6.4 6.0 7.7 26.2x3 65 68 160 M12x16 10
AKMJYS-B-X-X-0.45-10-3 10.0 12.9 12.0 15.4 | 52.4x3 76 79 235 | M12x16 6
AKMJYS-B-X-X-0.45-15-3 15.0 19.3 18.0 23.1 | 78.6x3 86 89 235 | M12x16 6
AKMJYS-B-X-X-0.45-20-3 20.0 25.7 24.0 30.8 | 104.8x3 96 99 235 | M12x16 4
AKMJYS-B-X-X-0.45-25-3 25.0 321 30.0 38.5 | 131.0x3 | 106 106 235 | M16x25 4




A
A

y —

f

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors

AKMJYS-B series

AKMJYS-B-X-X-0.45-30-3 30.0 38.5 36.0 |46.2 | 157.2x3 | 116 119 | 235 | M16%x25 4
50Hz 50Hz Cr Dimension mm) Bolt of | Packing

L Output Ir Output | Ir b tEe o

kvar A kvar A WF ®D ®D1 H ottom bes
AKMJYS-B-X-X-0.45-33.4-3 334 429 | 401 | 515 |175.0x3 | 126 | 129 | 235 | M16x25 4
AKMJYS-B-X-X-0.45-35-3 35.0 449 | 420 |53.9|183.4x3 | 126 129 | 235 | M16%25 4
AKMJYS-B-X-X-0.45-40-3 40.0 514 | 48.0 | 61.6 | 209.6x3 | 136 139 | 235 | M16%25 4

#5E L JE 480 V AC, 50/60 Hz, = f B i $:

AKMJYS-B-X-X-0.48-5-3 5.0 6.0 6.0 7.2 | 23.0x3 65 68 160 | M12x16 10
AKMJYS-B-X-X-0.48-10-3 10.0 12.0 12.0 | 14.5 | 46.0x3 76 79 235 | M12x16 6
AKMJYS-B-X-X-0.48-15-3 15.0 18.0 18.0 | 21.7 | 69.0x3 86 89 235 | M12x16 6
AKMJYS-B-X-X-0.48-20-3 20.0 24.0 240 |28.9| 92.1x3 96 99 235 | M12x16 4
AKMJYS-B-X-X-0.48-25-3 25.0 30.0 30.0 |36.0| 115.2x3 | 106 106 | 235 | M16x25 4
AKMJYS-B-X-X-0.48-30-3 30.0 36.0 36.0 |43.3|138.2x3 | 116 119 | 235 | M16%x25 4

AKMJYS-B-X-X-0.48-33.4-3 334 40.2 | 40.1 | 48.3 |153.8x3 | 126 | 129 | 235 | M16x25 4
AKMJYS-B-X-X-0.48-35-3 35.0 421 42.0 | 50.5 | 161.2x3 | 126 129 | 235 | M16%25 4
AKMJYS-B-X-X-0.48-40-3 40.0 48.2 | 48.0 |57.7 |184.2x3 | 136 | 139 | 235 | M16x25 4

ZE HBJE 525 V AC, 50/60 Hz, = AT %8
AKMJYS-B-X-X-0.525-5-3 5.0 55 6.0 6.6 | 19.3x3 65 68 160 | M12x16 10

AKMJYS-B-X-X-0.525-10-3 10.0 11.0 12.0 | 13.2 | 38.5%3 76 79 235 | M12x16 6

AKMJYS-B-X-X-0.525-15-3 15.0 16.5 18.0 | 19.8 | 57.7x3 86 89 235 | M12x16 6

AKMJYS-B-X-X-0.525-20-3 20.0 22.0 240 |26.4 | 77.0x3 96 99 235 | M12x16 4




A
A

y —
f

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors

AKMJYS-B series

AKMJYS-B-X-X-0.525-25-3 | 25.0 | 27.5 | 30.0 |33.0| 96.3x3 | 106 | 106 | 235 | M16x25 4
AKMJYS-B-X-X-0.525-30-3 | 30.0 | 33.0 | 36.0 |39.6 | 1155x3 | 116 | 119 | 235 | M16x25 4
50Hz 60Hz Cr Dimension  (mm) Bolt of | Packing
FRES Output | | Output | | e unt
utpu R utpu R bottom cs
kvar A kvar A WF ®D ®D1 H P
AKMJYS-B-X-X-0.525-33.4-3 334 36.8 40.1 44 1 | 128.6%x3 126 129 235 M16x25 4
AKMJYS-B-X-X-0.525-35-3 35.0 38.5 42.0 46.2 | 134.8x3 126 129 235 M16x25 4
AKMJYS-B-X-X-0.525-40-3 40.0 440 48.0 52.8 | 154.0x3 136 139 235 M16x25 4
WIS RS
AKMYS-B - X - X - 0.48 - 30 - 3
@ -- RFIHG
) -- BEEHRA, L -- BFRR
K -- R#IRA
B -- 4EE R, A - WEEE
B -- 547
C --BHE4E=%
@ -- FiEmanE
® - AT HBE
® --AMEHR 3-=#H (A ¢ 1-BIF




-
—

7z
EPCOS
R AR DI REABRIE
DeltaCap AKMJYS-B series capacitors AKMJYS-B series

WRRBAEE, BEMARME, RETHETREA, WHRFRATE RN 1.732 4, RS
AR

R EAES

AR IR 1 mm DR B T AU O, A A s

WX hE TR A

w OyE R R B BT R M A I RE, BTS2 RIS, RS HA S BT AR 2 12 mm
1A

mOAESBCRET, B2l

B EARTIEOLT, # U E  AN FTRE FP sei oRalE Se AR LRI O o

BN AR, PUONRIME TR R B s T WO SRS, e AT REAL TR R

o RIHES, PR R AN B
FERIAHTEO T, NEFES AR FEOT R R BRAKK .

Y175 i

B AR R A X thad T B A A . ORI R BEAR A H A s O S T A I
ENGE

A

W LR I B UMR FT AT RE R SR . N S T BV B R RE S T LA AR B R B T LA
A HOH LA, 07 7 5 B ek SO A BRI HE Y

m RSN TR R AR

W AR AR B A 2 AR R T

W ARSI R B R DL R AR B T RE AT HL

IR bR BT
NS R R BT R AR ThRE, e A0Sy AN #3K:

1. BT A2 2IFAAS, B,
WAL E R TR ).
W AT RS A R (e 12 2K FIERAT T IR . R RERE S I e A, AR PRI
JE B T R A
u I BTG T AT

2. 124 UL 810 #nifl, s K ACVRIF IRy 10000 A, 3K 25 i N2 P 7 R ARIEE




W

EPCOS

HR A —ThRABKIE

DeltaCap AKMJYS-B series capacitors AKMJYS-B series

3. A AR N ZHL ZHE IEC60831 FUKS JEH A -

® /] HRC fRE 2280 MCCBs HEATALHS (R . NEFERLRE ORI NIER ST, LAERERE K AKLEE 1.5 6%
(I HL A L o

® HRC {REz 22 ARERT LR a8, e MU TR,

W HRC {RES 22 HUE MO HUE LA LN 1.6 £ 1.8 1%,

W ARNEA] HRC {56 22 R U1 B 28 28 (LIRSS ) o

ik FH AR P A 0k PR A8 BEAT S B AR

Ry

FEARMTIEOL T, A 3 22 ) NP v Rl S il IR 1 DL . A B I R B o I s RMS Al
¥ o LU (LG R B AL o

A E
FEHLE AR WL R, 20U R AL 85 PR BCHLT T, DABE Gk 57 A s R 5 B0 e TR LA o
HL A 2R PR MEAT & IEC 60831 55 2-6 #57)-

KR

)| 6 h*

ARG 1 10 ... 55 Hz*

7 R 0.75 mm*




	安全
	过电流和短路保护

